
Tree 16

Use this map to find the common ancestor of any two families and hence their relationship to one
another. If the common ancestor is N generations earlier than the earlier of the two families, then
they are (N-1)th cousins -- possibly removed by a number of generations. For example:

-The families 1461 & 1915 have the common ancestor 0048, three generations earlier.
So the heads of 1461 and 1915 are second cousins.

-The families 1461 & 1525 have the common ancestor 0380, four generations before 1461.
But they themselves are removed by one generation. So the heads of 1461 & 1525 are

second cousins once removed.

1 2 3 4 5 6 7 8 9 10 11 12
0528 ┬ 0506 ─ 0743 ─ 0504 ─ 0476

├ 0526 ┬ 2478 ─ 0700
│ └ 0492
├ 0518 ─ 0517 ─ 0495 ┬ 2489
│ ├ 0470 ─ 0472 ─ 1040
│ └ 0487 ┬ 0447 ─ 0380 ┬ 0048 ┬ 2304 ─ 0870 ┬ 2279
│ │ │ │ └ 1461
│ │ │ ├ 2301
│ │ │ └ 0391 ─ 0808 ─ 1915
│ │ ├ 0161 ┬ 0164
│ │ │ ├ 0165 ─ 1523 ┬ 0331
│ │ │ │ ├ 1527
│ │ │ │ └ 1524 ┬ 1525
│ │ │ │ ├ 1526
│ │ │ │ └ 1650
│ │ │ ├ 1162 ─ 1189 ┬ 1522
│ │ │ │ └ 1711
│ │ │ └ 2452
│ │ └ 0047 ┬ 1816
│ │ └ 1815 ─ 0020 ┬ 0135
│ │ └ 0673
│ └ 0736
└ 0521


